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Attempt all gquestions.

I. State whether the following are True or False:

(a)
(b)
(e
-'(d)

- (¢)

No person other than Individual or HUF can be
‘resident but not ordinarily resident in India’.

Total income of a person is determined on the
basis of his citizenship in India.

The daily aliowance received by a Member of

Parliament is fully taxable.

The maximum exemption in case of leave
encashment is Rs. 3.00,000

Mr. A has two self-occupied house properties.

the annual value of both houses will be zero. (5)
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2. P, a resident individual retires from Z Ltd., Delhi on
31.01.2014 after 25 years of service. The following
information is provided by him about his incomes during

the previous year 2013-14:
Basic Salary Rs.10,000 per month

Dearness Allowance (one half included for retirement

benefits) Rs. 2000 per month

Free facility of Maruti (WaganR) car along with

Driver for personal and official use

Car expenditures are met by the employer for the
period up to 31.01.2014 Rs.60,000

House accommodation, rent paid by the company

Rs. 4000 per month
P.T.O.
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Best suggestion award for total quality management
scheme Rs.10.000

Cost of lunch during office hours provided by the

company Rs. 300 per month
Pension w.e.f. 1.02.2014 Rs.3,000 per month

Commuted value of one-half pension w.e.f. 1.02.2014
Rs.2,25,000

Payment from Unrecognised Provident Fund:

Employer’s contribution (including interest
Rs.50,000) Rs.2,50,000

Employee’s contribution (including interest
Rs.50,000) Rs.2,50,000

You are requested to compute his total income & tax

) liability for the assessment year 2014-15 {15)
OR
Write Short Notes on any three of the following:
l(a) éapiial losses
{b) House Rent Allowance

(¢} Deduction allowed to a person with Disability
u/s 80U

(d) Deduction u/s 24b in respect of money borrowed

for construction/purchase of House property (15)
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3. (a) For the assessment year 2014-15, O submits the

following information.

Property Income House 1 House 2
Fair Rent 75000 85000
Rent Received 78000 78000
Municipal Valuation 76000 735000
Municipal Taxes 13000 14000
(due but not paid)

Repairs (spent) 3500 4700
[nsurance Paid 2000 3000
Nature of Occupation | Residence | Business
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Mr. (¢ took a loan of Rs.10,00,000 @ 2% pa on
1.09.2011 for the construction of House No.2 by
mortgaging House No. }. The consiruction of the
house was completed on 28.02.2013. Mr. QQ repad
R$.2.00.000 on 30.09.2013.

Determine his income from House Property tor
the Assessment Year 2014-13 {10

Enumerale any five examples of incomues which
are exempted u/s 10 of Income Tax Act 1961, {5)

OR
Discuss the rules for determining residential status
ol an individual (5)
Define "Capital Assets’. State asscts which are

not treated as ‘Capital Assets’ for the purpose of
computation of Capital gains. {10)

() FrfRwr @l 2014-15 & fog Peafafen geem @ @
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3hm fera 75000 35000
fergen g gam 78000 78000
FR A gemeT 76000 75000
TR 13000 14000
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P.T.O.
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4. (a) Find out the amount of capital gain chargeable to

lax for the Assessment Year 2014-13

G purchases a house property

on 10-05-1964 Rs.36,000

He constructs first floor of

the house 1n 1968-69 Rs.80,000
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He dies on 12-09-74,
The property is transferred
to Mrs. G by his will,
Mrs.G spends during1 985-86

for reconstruction of the property Rs. 44,000

Mrs. G sells the house

property on 15-03-2014 Rs.35.50,000
She paid brokerage Rs.14500

The ftair market value of the

house on 01-04-1981 Rs.1.50.000

Costinflationindex: 1980-81:100.1984-85:125,
1985-86:133,2013-14:939 (10)

Discuss deduction in respect of Medical Insurance
Premia under Section 80D of Income Tax Act

1961. (5)
OR

What are the exceptions to the general rule that
income of the previous vear is taxable during the

assessment year, immediately following year?

(3)

P.T.0O.
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Mr.S is a foreign citizen. His grandmother was
born in Delhi on 12-08-1935. 1le comes to India
on 26-10-2013 for a visit of 210 days. His income

ol the previous year 2013-14 is as follows:

income earned and received
in India Rs.2,40,000

Income earned and received
outside India Rs.5,80,000

[nceme from a House
property in Mumbai but rent is
paid outside India In foreign

currency worlh Rs.6,20,000

Determine his residential status and compute his
taxable income for the assessment year 2014-15

(10)
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